Excise taxes and its impact on market equilibrium
a) Specific Excise tax :- 

Is acertain amount imposed on each unit of production unit .

TRt = t . Q

b) Advalorem Excise tax :-

are words from the impostion of acertain percentage on the price of each unit of production units . 

ملاحظات :-
1- عند فرض الضريبة النوعية فان دالة الطلب تبقى دون تغير 
Qd = a-bp

نجد ان دالة العرض لاتتغير لان السعر الذي يحصل عليه المنتج يكون اقل من سعر السوق بمقدار الضريبة وهذا يؤدي الى تقليل الكمية المعروضة .
Qs = -c+dpt

Or   Qs = -c+d (p – t )       →  Qs = -c+dp – dt

Qd = Qs 

a-bp = -c+d( p – t ) 

a+c+dt = dp +bp 

a+c+dt = p ( d+b) 
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نلاحظ ان تأثير الضريبة على السعر التوازني هو زيادته بمقدار ( [image: image16.png]


 t ) 
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تأثير الضريبة على الكمية التوازنية يكون بتقليلها بمقدار [image: image34.png]d+b
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Exp:- if you know that the function of the demand and supply of acommodety is :-
(1) find P´ , Q´
(2) find P´ , Q´ after the impositior of tax rat of (4)D for unit sold .

Qd = 40 – 4p

Qs = -20+8p

Qd = Qs
(1) 40 – 4P = -20+8P

           60     =     12P
           P´0 = 5

Q´0 = 40-4(5) = 20

(2) Qd = 40 -4P

       QS = -20 +8(P-4) 

       QS= -20+8P-32

       QS = -52 +8P

        Qd = Qs 

40 -4P = -52 +8P

92=12P

P´ = 7.667 

Q´ = 40-4(7.667) = 9.334
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 P´ = P´1  - P´0  = 7.667 -5 = 2.667 
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 Q´ = Q´1  - Q´0  = 9.334 -20 = -10.666

